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1. Which of the following statements is/are true with reference to Direct Benefit
Transfer for the fertilizer sector?

1. The subsidy will be released to the fertilizer companies instead of the Beneficiaries.
2. It is being implemented by the Ministry of Agriculture.

Select the correct answer using the codes given below.

O 1 only

O 2 only

O Both 1 and 2

O Neither 1 nor 2

2. Which of the following industries are footloose industries?

1. Sugar industry

2. Jute industry

3. Diamond industry

4. Phone Manufacturing
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Select the correct answer using the codes given below.

O 1 and 2 only
O 2 and 3 only
O 3 and 4 only
01,2 3and4

3. Which of the following is not correct with reference to the New Development
Bank?

O It was established during the sixth BRICS Summit in Fortaleza (2014)
O Its Headquarter is in Shanghai, China.

O China has the highest voting rights among all the members.

O It is jointly funded by BRICS countries only

4. Consider the following reports with respect to their publisher:

1. An economy for 99% - Amnesty International
2. World Intellectual Property Report - WTO
3. Global Money Laundering Report - FATF

Which of the pairs given above is/are correctly matched?

O 3 only

O 1 and 2 only
O 2 and 3 only
O1,2and3

5. Which of the following statements is/are not correct in the Indian context?

O The Indian economy is a service sector dominated in terms of GVA.

O The Indian economy is an agrarian economy as it is the majority contributor to GDP.
O Tertiary sector employs more people than the manufacturing sector.

O Manufacturing sector contributes more to GDP than the primary sector.



